Bid #PNC2119699C1 - Lauderhill Mall Transit Center

Creation Date Sep 10, 2019 End Date Nov 5, 2019 2:00:00 PM EST

Start Date Sep 26, 2019 5:06:37 PM EDT Awarded Date Not Yet Awarded

| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs |
|---------------------------------|-------------------------------|--|---|--------|------|
| MS.SHINEON | First Offer - \$0.15 | 1 / lump sum | \$0.15 | Υ | Υ |
| Product Code: Agency Notes: | | Supplier Product Supplier Notes: m recurring cleaning one time cleaning \$0. | y quote is per sf | | |
| Florida Clear Energy, LLC | First Offer - \$299,639.88 | 1 / lump sum | \$299,639.88 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Supplier Notes: In | Code: terior and Exterior LED | Lights | |
| Emerald Construction Corp. [Ad] | First Offer - \$9,002,177.46 | 1 / lump sum | \$9,002,177.46 | | Υ |
| Product Code: Agency Notes: | | | emolition of the existing new construction of the | | |
| TGSV Enterprises, Inc. | First Offer - \$10,140,099.00 | 1 / lump sum | \$10,140,099.00 | Υ | Υ |
| Product Code: Agency Notes: | | Supplier Product Supplier Notes: | Code: | 1 | |
| Gulf Building LLC | First Offer - \$10,184,853.00 | 1 / lump sum | \$10,184,853.00 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | |
| | First Offer - \$10,437,525.00 | 1 / lump sum | \$10,437,525.00 | Υ | Υ |
| West Construction, Inc. [Ad] | 1 4,, | | | | |

| PNC2119699C102-01 GROUP 2: MOBI | LIZATION | | | | | | |
|---------------------------------|-------------|--|---|-------------|--------|------|--|
| Supplier | | Unit Price | Qty/Unit | Total Price | Attch. | Docs | |
| TGSV Enterprises, Inc. | First Offer | - \$11,488.75 | 1 / lump sum | \$11,488.75 | | Υ | |
| | | Supplier Product Code: Supplier Notes: | | | | | |
| Gulf Building LLC | First Offer | - \$24,405.00 | 1 / lump sum | \$24,405.00 | | Υ | |
| Product Code: Agency Notes: | | | Supplier Product Code: Supplier Notes: | | | | |
| West Construction, Inc. [Ad] | First Offer | - \$30,874.00 | 1 / lump sum | \$30,874.00 | | Υ | |
| Product Code: Agency Notes: | | | Supplier Product Code: Supplier Notes: | | | | |
| Emerald Construction Corp. [Ad] | First Offer | - \$62,196.63 | 1 / lump sum | \$62,196.63 | | Υ | |
| Product Code: Agency Notes: | | | Supplier Product C Supplier Notes: | ode: | | | |

| PNC2119699C102-02 GROUP 2: TRAFFIC CONTROL OFFICER | | | | | | | | |
|--|---------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price Qty/Unit | Total Price | Attch. | Docs | | | | |

| | • | | | ı ayc | 20114 |
|---------------------------------|--|---|--------------|-------|-------|
| West Construction, Inc. [Ad] | First Offer - \$60.00 | 16 / hour | \$960.00 | | Υ |
| Product Code: Agency Notes: | Supplier Product Code: Supplier Notes: | | | | |
| TGSV Enterprises, Inc. | First Offer - \$80.43 | 16 / hour | \$1,286.88 | | Υ |
| | | Supplier Product Code: Supplier Notes: | | | |
| Gulf Building LLC | First Offer - \$134.00 | 16 / hour | \$2,144.00 | | Υ |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | |
| Emerald Construction Corp. [Ad] | First Offer - \$316.7656 | 16 / hour | \$5,068.2496 | | Υ |
| | | Supplier Product Code: Supplier Notes: | | | |

| PNC2119699C102-03 GROUP 2: WORK ZONE SIGN | | | | | | | | | |
|---|-------------------------|---|--------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| TGSV Enterprises, Inc. | First Offer - \$0.80 | 96 / day | \$76.80 | | Υ | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |
| West Construction, Inc. [Ad] | First Offer - \$7.00 | 96 / day | \$672.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$14.8042 | 96 / day | \$1,421.2032 | | Υ | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Gulf Building LLC | First Offer - \$17.00 | 96 / day | \$1,632.00 | | Υ | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |

| PNC2119699C102-04 GROUP 2: CHANNEL DEVICE TYPES I, II, DI, VP, DRUM, OR LC | | | | | | | | | |
|--|------------------------|---|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| TGSV Enterprises, Inc. | First Offer - \$0.64 | 720 / day | \$460.80 | | Υ | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |
| West Construction, Inc. [Ad] | First Offer - \$1.25 | 720 / day | \$900.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$1.6667 | 720 / day | \$1,200.024 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Gulf Building LLC | First Offer - \$9.00 | 720 / day | \$6,480.00 | | Υ | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |

| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | |
|---------------------------------|--|------------------------|-------------|--------|------|--|--|
| TGSV Enterprises, Inc. | First Offer - \$16.09 | 24 / day | \$386.16 | | Υ | | |
| Product Code: | | Supplier Product Co | ode: | | | | |
| Agency Notes: | | Supplier Notes: | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$44.375 | 24 / day | \$1,065.00 | | Υ | | |
| Product Code: | | Supplier Product Code: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | |
| | Contraction Job Site Entrance, Warning | | | | | | |
| | | | | | | | |
| | | | | | | | |

| | | İ | | . ago | 0 01 14 |
|------------------------------|------------------------|---------------------|------------|-------|---------|
| West Construction, Inc. [Ad] | First Offer - \$45.00 | 24 / day | \$1,080.00 | | Υ |
| Product Code: | | Supplier Product Co | ode: | | |
| Agency Notes: | | Supplier Notes: | | | |
| Gulf Building LLC | First Offer - \$342.00 | 24 / day | \$8,208.00 | | Υ |
| Product Code: | | Supplier Product Co | ode: | | |
| Agency Notes: | | Supplier Notes: | | | |

| PNC2119699C102-06 GROUP 2: PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY | | | | | | | |
|--|-----------------------|--|-------------|--------|------|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | |
| Emerald Construction Corp. [Ad] | First Offer - \$17.80 | 120 / day | \$2,136.00 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: Safety screens | ode: | | | | |
| West Construction, Inc. [Ad] | First Offer - \$24.00 | 120 / day | \$2,880.00 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | |
| TGSV Enterprises, Inc. | First Offer - \$26.81 | 120 / day | \$3,217.20 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | |
| Gulf Building LLC | First Offer - \$33.00 | 120 / day | \$3,960.00 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | |

| PNC2119699C102-07 GROUP 2: CONC | RETE SIDEWALK AND D | RIVEWAYS, 4 INCH | | | | |
|---------------------------------|-----------------------------|---|----------------|--------|------|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | |
| West Construction, Inc. [Ad] | First Offer - \$43.00 | 8 / square yard | \$344.00 | | Υ | |
| Product Code: Agency Notes: | | Supplier Product (Supplier Notes: | Code: | | | |
| TGSV Enterprises, Inc. | First Offer - \$428.95 | 8 / square yard | \$3,431.60 | | Υ | |
| Product Code: Agency Notes: | | Supplier Product (Supplier Notes: | Code: | | | |
| Gulf Building LLC | First Offer - \$1,547.00 | 8 / square yard | \$12,376.00 | | Υ | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$85,547.9888 | 8 / square yard | \$684,383.9104 | | Υ | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: Concrete sidewalks, driveways, colored concrete bus platfor DOES NOT INCLUDE BUILDINGS SLAB ON GRADE | | | | |

| PNC2119699C102-08 GROUP 2: CONDUIT (F&I), OPEN TRENCH | | | | | | | | |
|---|-----------------------|---|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| West Construction, Inc. [Ad] | First Offer · \$11.73 | 420 / linear foot | \$4,926.60 | | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | |
| Gulf Building LLC | First Offer - \$12.00 | 420 / linear foot | \$5,040.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Consumplier Notes: | ode: | | | | | |

| Emerald Construction Corp. [Ad] | First Offer - \$12.0558 | 420 / linear foot | \$5,063.436 | | Υ | | |
|---------------------------------|-------------------------|------------------------|-------------|--|---|--|--|
| Product Code: | | Supplier Product Code: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | |
| TGSV Enterprises, Inc. | First Offer - \$12.14 | 420 / linear foot | \$5,098.80 | | Υ | | |
| Product Code: | | Supplier Product Code: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | |

| PNC2119699C102-09 GROUP 2: CONDI | JIT (F&I), DIRECTION | NAL BORE | | | |
|----------------------------------|-------------------------|--|---------------|--------|------|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs |
| West Construction, Inc. [Ad] | First Offer - \$26.86 | 1152 / linear foot | \$30,942.72 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | |
| TGSV Enterprises, Inc. | First Offer - \$27.28 | 1152 / linear foot | \$31,426.56 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | |
| Emerald Construction Corp. [Ad] | First Offer - \$27.6048 | 1152 / linear foot | \$31,800.7296 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | |
| Gulf Building LLC | First Offer - \$28.00 | 1152 / linear foot | \$32,256.00 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | |

| PNC2119699C102-10 GROUP 2: SIGNA | L CABLE (F&I), NEW OR | RECONSTRUCTED | INTERSECTION | | |
|----------------------------------|----------------------------|---------------------------------------|--------------|--------|------|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs |
| West Construction, Inc. [Ad] | First Offer - \$4,731.00 | 1 / per intersection | \$4,731.00 | | Υ |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | Code: | | |
| Emerald Construction Corp. [Ad] | First Offer - \$4,773.2674 | 1 / per intersection | \$4,773.2674 | | Υ |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | Code: | | |
| TGSV Enterprises, Inc. | First Offer - \$4,897.56 | 1 / per intersection | \$4,897.56 | | Υ |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | Code: | | |
| Gulf Building LLC | First Offer - \$4,908.00 | 1 / per intersection | \$4,908.00 | | Υ |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | Code: | | |

| PNC2119699C102-11 GROUP 2: FIBER | OPTIC CABLE (F&I), | UNDERGROUND, 2 | TO 12 FIBERS | | |
|----------------------------------|------------------------|---|--------------|--------|------|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs |
| West Construction, Inc. [Ad] | First Offer - \$3.52 | 910 / linear foot | \$3,203.20 | | Υ |
| | | Supplier Product Code: Supplier Notes: | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$3.5564 | 910 / linear foot | \$3,236.324 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | |
| TGSV Enterprises, Inc. | First Offer - \$3.65 | 910 / linear foot | \$3,321.50 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | |
| Gulf Building LLC | First Offer - \$4.00 | 910 / linear foot | \$3,640.00 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | |

PNC2119699C1--02-12 GROUP 2: FIBER OPTIC CONNECTION, INSTALL, SPLICE

| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | |
|---------------------------------|-------------------------|---|-------------|--------|------|--|
| West Construction, Inc. [Ad] | First Offer - \$46.51 | 8 / each | \$372.08 | | Υ | |
| | | Supplier Product Code: Supplier Notes: | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$47.8185 | 8 / each | \$382.548 | | Υ | |
| | | Supplier Product Code: Supplier Notes: | | | | |
| Gulf Building LLC | First Offer - \$48.00 | 8 / each | \$384.00 | | Υ | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | |
| TGSV Enterprises, Inc. | First Offer - \$48.15 | 8 / each | \$385.20 | | Υ | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | |

| PNC2119699C102-13 GROUP 2: FIBER | OPTIC CONNECTION | HARDWARE (F&I), P | ATCH PANEL FIELD | TERMINA | TED |
|----------------------------------|--------------------------|---------------------------------------|------------------|---------|------|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs |
| West Construction, Inc. [Ad] | First Offer - \$1,721.00 | 1 / each | \$1,721.00 | | Υ |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | |
| Emerald Construction Corp. [Ad] | First Offer - \$1,735.81 | 1 / each | \$1,735.81 | | Υ |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | |
| TGSV Enterprises, Inc. | First Offer - \$1,781.29 | 1 / each | \$1,781.29 | | Υ |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | |
| Gulf Building LLC | First Offer - \$1,786.00 | 1 / each | \$1,786.00 | | Υ |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | |

| PNC2119699C102-14 GROUP 2: FIBER | OPTIC CONNECTION | HARDWARE, ADJUS | T, MODIFY SPLICE E | NCLOSU | RE |
|----------------------------------|-------------------------|---------------------|--------------------|--------|------|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs |
| West Construction, Inc. [Ad] | First Offer - \$565.00 | 1 / each | \$565.00 | | Υ |
| Product Code: | | Supplier Product Co | ode: | | |
| Agency Notes: | | Supplier Notes: | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$580.563 | 1 / each | \$580.563 | | Υ |
| Product Code: | | Supplier Product Co | ode: | | |
| Agency Notes: | | Supplier Notes: | | | |
| TGSV Enterprises, Inc. | First Offer - \$584.59 | 1 / each | \$584.59 | | Υ |
| Product Code: | | Supplier Product Co | ode: | | |
| Agency Notes: | | Supplier Notes: | | | |
| Gulf Building LLC | First Offer - \$596.00 | 1 / each | \$596.00 | | Υ |
| Product Code: | | Supplier Product Co | ode: | | |
| Agency Notes: | | Supplier Notes: | | | |

| PNC2119699C102-15 GROUP 2: PULL / | AND SPLICE BOX (F&I) | , 13 X 24 INCHES CO | OVER SIZE | | |
|-----------------------------------|--------------------------|---------------------|---------------|--------|------|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs |
| West Construction, Inc. [Ad] | First Offer - \$688.00 | 18 / each | \$12,384.00 | | Υ |
| Product Code: | | Supplier Product C | ode: | | |
| Agency Notes: | | Supplier Notes: | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$695.0717 | 18 / each | \$12,511.2906 | | Υ |
| Product Code: | | Supplier Product C | ode: | | |
| Agency Notes: | | Supplier Notes: | | | |
| TGSV Enterprises, Inc. | First Offer - \$713.28 | 18 / each | \$12,839.04 | | Υ |

| Е | xŀ | nibi | t |
|------|----|------|---|
| Page | 6 | of | 1 |

| | • | | | i agc | , 0 01 17 | |
|-------------------|------------------------|------------------------|-------------|-------|-----------|--|
| Product Code: | | Supplier Product Code: | | | | |
| Agency Notes: | | Supplier Notes: | | | | |
| Gulf Building LLC | First Offer - \$716.00 | 18 / each | \$12,888.00 | | Υ | |
| Product Code: | | Supplier Product Code: | | | | |
| Agency Notes: | | Supplier Notes: | | | | |

| PNC2119699C102-16 GROUP 2: PULL A | AND SPLICE BOX (F& | I), 24 X 36 INCHES C | OVER SIZE | | |
|-----------------------------------|--------------------------|--|-------------|--------|------|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs |
| West Construction, Inc. [Ad] | First Offer - \$1,614.00 | 1 / each | \$1,614.00 | | Υ |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | |
| Emerald Construction Corp. [Ad] | First Offer - \$1,629.05 | 1 / each | \$1,629.05 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Consumplier Notes: | ode: | | |
| TGSV Enterprises, Inc. | First Offer - \$1,671.73 | 1 / each | \$1,671.73 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | |
| Gulf Building LLC | First Offer - \$1,675.00 | 1 / each | \$1,675.00 | | Υ |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | |

| PNC2119699C102-17 GROUP 2: PULL AND SPLICE BOX (F&I), 30 X 48 INCHES COVER SIZE AND 36 INCHES DEEP | | | | | | | |
|--|--------------------------|--|-------------|--------|------|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | |
| West Construction, Inc. [Ad] | First Offer - \$2,152.00 | 1 / each | \$2,152.00 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | |
| TGSV Enterprises, Inc. | First Offer - \$2,228.38 | 1 / each | \$2,228.38 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | |
| Gulf Building LLC | First Offer - \$2,233.00 | 1 / each | \$2,233.00 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$2,441.15 | 1 / each | \$2,441.15 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | |

| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs |
|---------------------------------|--------------------------|--|-------------|--------|------|
| West Construction, Inc. [Ad] | First Offer - \$3,273.00 | 1 / assembly | \$3,273.00 | | Υ |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | |
| Emerald Construction Corp. [Ad] | First Offer - \$3,321.55 | 1 / assembly | \$3,321.55 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | |
| TGSV Enterprises, Inc. | First Offer - \$3,388.22 | 1 / assembly | \$3,388.22 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | |
| Gulf Building LLC | First Offer - \$5,037.00 | 1 / assembly | \$5,037.00 | | Υ |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | |

| PNC2119699C102-19 | GROUP 2: ELECTRICAL S | SERVICE WIRE (F&I) | |
|-------------------|-----------------------|--------------------|--|
| | | | |

| | | | ı ugc | 7 01 14 | |
|---------------------------------|--|---|-------------|---------|------|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs |
| Gulf Building LLC | First Offer - \$3.00 | 257 / linear foot | \$771.00 | | Υ |
| Product Code: Agency Notes: | Supplier Product Code: Supplier Notes: | | | | |
| West Construction, Inc. [Ad] | First Offer - \$3.19 | 257 / linear foot | \$819.83 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | |
| TGSV Enterprises, Inc. | First Offer - \$3.30 | 257 / linear foot | \$848.10 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | |
| Emerald Construction Corp. [Ad] | First Offer - \$3.3015 | 257 / linear foot | \$848.4855 | | Υ |
| | | Supplier Product Code: Supplier Notes: | | | |

| PNC2119699C102-20 GROUP 2: ELECT | RICAL SERVICE DISC | ONNECT (F&I), POLE | MOUNT | | | |
|----------------------------------|--------------------------|--|-------------|--------|------|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | |
| West Construction, Inc. [Ad] | First Offer - \$2,544.00 | 1 / each | \$2,544.00 | | Υ | |
| | | Supplier Product Code: Supplier Notes: | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$2,585.00 | 1 / each | \$2,585.00 | | Υ | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | |
| TGSV Enterprises, Inc. | First Offer - \$2,635.97 | 1 / each | \$2,635.97 | | Υ | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | |
| Gulf Building LLC | First Offer - \$2,642.00 | 1 / each | \$2,642.00 | | Υ | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | |

| PNC2119699C102-21 GROUP 2: PRESTRESSED CONCRETE POLE (F&I), TYPE P II SERVICE POLE | | | | | | | | | | | |
|--|--------------------------|--------------------|-------------|--------|------|--|--|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | | | |
| West Construction, Inc. [Ad] | First Offer - \$1,582.00 | 1 / each | \$1,582.00 | | Υ | | | | | | |
| Product Code: | Supplier Product C | ode: | | | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$1,596.24 | 1 / each | \$1,596.24 | | Υ | | | | | | |
| Product Code: | | Supplier Product C | ode: | | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | | | |
| TGSV Enterprises, Inc. | First Offer - \$1,638.07 | 1 / each | \$1,638.07 | | Υ | | | | | | |
| Product Code: | | Supplier Product C | ode: | | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | | | |
| Gulf Building LLC | First Offer - \$1,642.00 | 1 / each | \$1,642.00 | | Υ | | | | | | |
| Product Code: | | Supplier Product C | ode: | | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | | | |

| PNC2119699C102-22 GROUP 2: ALUMINUM SIGNALS POLE, PEDESTAL | | | | | | | | | | |
|--|--------------------------|--------------------|-------------|--------|------|--|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | | |
| West Construction, Inc. [Ad] | First Offer - \$1,348.00 | 7 / assembly | \$9,436.00 | | Υ | | | | | |
| Product Code: | | Supplier Product C | Code: | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | | |
| TGSV Enterprises, Inc. | First Offer - \$1,396.23 | 7 / assembly | \$9,773.61 | | Υ | | | | | |
| Product Code: | | Supplier Product C | Code: | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | | |
| Gulf Building LLC | First Offer - \$1,399.00 | 7 / assembly | \$9,793.00 | | Υ | | | | | |

| | | | | i age o | 01 17 |
|---------------------------------|----------------------------|--------------------|---------------|---------|-------|
| Product Code: | | Supplier Product C | Code: | | |
| Agency Notes: | | Supplier Notes: | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$1,554.9471 | 7 / assembly | \$10,884.6297 | | Υ |
| Product Code: | | Supplier Product C | Code: | | |
| Agency Notes: | | Supplier Notes: | | | |

| PNC2119699C102-23 GROUP 2: STEEL MAST ARM ASSEMBLY (F&I), DOUBLE ARM 50 AND 40 FEET | | | | | | | | | | |
|---|---------------------------|--|-------------|--------|------|--|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | | |
| West Construction, Inc. [Ad] | First Offer - \$50,120.00 | 1 / each | \$50,120.00 | | Υ | | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$50,555.00 | 1 / each | \$50,555.00 | | Υ | | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | | |
| TGSV Enterprises, Inc. | First Offer - \$51,879.62 | 1 / each | \$51,879.62 | | Υ | | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | | |
| Gulf Building LLC | First Offer - \$51,982.00 | 1 / each | \$51,982.00 | | Υ | | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | | |

| PNC2119699C102-24 GROUP 2: STEEL MAST ARM ASSEMBLY (F&I), SINGLE ARM 60 FEET | | | | | | | | | |
|--|---------------------------|---------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| West Construction, Inc. [Ad] | First Offer - \$43,815.00 | 1 / each | \$43,815.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$44,196.30 | 1 / each | \$44,196.30 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |
| TGSV Enterprises, Inc. | First Offer - \$45,354.26 | 1 / each | \$45,354.26 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |
| Gulf Building LLC | First Offer - \$45,444.00 | 1 / each | \$45,444.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |

| PNC2119699C102-25 GROUP 2: TRAFFIC SIGNAL (F&I), ALUMINUM, 3 SECTION, 1 WAY | | | | | | | | | | |
|---|--------------------------|---------------------------------------|---------------|--------|------|--|--|--|--|--|
| Supplier Unit Price | | Qty/Unit | Total Price | Attch. | Docs | | | | | |
| West Construction, Inc. [Ad] | First Offer - \$902.00 | 11 / assembly | \$9,922.00 | | Υ | | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$910.7545 | 11 / assembly | \$10,018.2995 | | Υ | | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | | |
| TGSV Enterprises, Inc. | First Offer - \$934.63 | 11 / assembly | \$10,280.93 | | Υ | | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | | |
| Gulf Building LLC | First Offer - \$937.00 | 11 / assembly | \$10,307.00 | | Υ | | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | | |

| PNC2119699C102-26 GROUP 2: TRAFFIC SIGNAL (F&I), ALUMINUM, 4 SECTION, 1 WAY | | | | | | | | |
|---|------------|----------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |

| | | | | | ı ugc | 3 01 17 |
|---------------------------------|---------------|------------|------------------------|------------|-------|---------|
| West Construction, Inc. [Ad] | First Offer - | \$1,126.00 | 1 / assembly | \$1,126.00 | | Υ |
| Product Code: | | | Supplier Product C | ode: | | |
| Agency Notes: | | | Supplier Notes: | | | |
| Emerald Construction Corp. [Ad] | First Offer - | \$1,158.57 | 1 / assembly | \$1,158.57 | | Υ |
| Product Code: | | | Supplier Product C | ode: | | |
| Agency Notes: | | | Supplier Notes: | | | |
| TGSV Enterprises, Inc. | First Offer - | \$1,166.60 | 1 / assembly | \$1,166.60 | | Υ |
| Product Code: | | | Supplier Product Code: | | | |
| Agency Notes: | | | Supplier Notes: | | | |
| Gulf Building LLC | First Offer - | \$1,169.00 | 1 / assembly | \$1,169.00 | | Υ |
| Product Code: | · | | Supplier Product C | ode: | | |
| Agency Notes: | | | Supplier Notes: | | | |

| PNC2119699C102-27 GROUP 2: PEDESTRIAN SIGNAL (F&I), LED COUNTDOWN, 1 WAY | | | | | | | | | | |
|--|-------------------------|------------------------|-------------|--------|------|--|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | | |
| West Construction, Inc. [Ad] | First Offer - \$611.00 | 6 / assembly | \$3,666.00 | | Υ | | | | | |
| Product Code: | | Supplier Product Co | ode: | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$617.325 | 6 / assembly | \$3,703.95 | | Υ | | | | | |
| Product Code: | | Supplier Product Code: | | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | | |
| TGSV Enterprises, Inc. | First Offer - \$633.50 | 6 / assembly | \$3,801.00 | | Υ | | | | | |
| Product Code: | | Supplier Product Co | ode: | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | | |
| Gulf Building LLC | First Offer - \$635.00 | 6 / assembly | \$3,810.00 | | Υ | | | | | |
| Product Code: | | Supplier Product Co | ode: | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | | |

| PNC2119699C102-28 GROUP 2: VEHICLE DETECTION SYSTEM VIDEO (F&I), CABINET EQUIPMENT | | | | | | | | | |
|--|---------------------------|------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| West Construction, Inc. [Ad] | First Offer - \$13,740.00 | 1 / each | \$13,740.00 | | Υ | | | | |
| Product Code: | | Supplier Product C | ode: | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$13,859.75 | 1 / each | \$13,859.75 | | Υ | | | | |
| Product Code: | | Supplier Product Code: | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | |
| TGSV Enterprises, Inc. | First Offer - \$14,223.52 | 1 / each | \$14,223.52 | | Υ | | | | |
| Product Code: | | Supplier Product Code: | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | |
| Gulf Building LLC | First Offer - \$14,252.00 | 1 / each | \$14,252.00 | | Υ | | | | |
| Product Code: | | Supplier Product C | ode: | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | |

| PNC2119699C102-29 GROUP 2: VEHICLE DETECTION SYSTEM VIDEO (F&I), ABOVE GROUND EQUIPMENT | | | | | | | |
|---|----------------------------|------------------------|--------------|--------|------|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | |
| West Construction, Inc. [Ad] | First Offer - \$2,144.00 | 3 / each | \$6,432.00 | | Υ | | |
| Product Code: | | Supplier Product C | Code: | | | | |
| Agency Notes: | | Supplier Notes: | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$3,000.1533 | 3 / each | \$9,000.4599 | | Υ | | |
| Product Code: | | Supplier Product Code: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | |
| TGSV Enterprises, Inc. | First Offer - \$3,078.76 | 3 / each | \$9,236.28 | | Υ | | |
| Product Code: | | Supplier Product C | Code: | | | | |

| | | I | | i ago i | 0 01 1 1 |
|-------------------|--------------------------|--------------------|------------|---------|----------|
| Agency Notes: | | Supplier Notes: | | | |
| Gulf Building LLC | First Offer - \$3,085.00 | 3 / each | \$9,255.00 | | Υ |
| Product Code: | | Supplier Product (| Code: | | |
| Agency Notes: | | Supplier Notes: | | | |

| PNC2119699C102-30 GROUP 2: SIGNA | L PRIORITY PREEMP1 | ΓΙΟΝ SYSTEM (F&I), C | GPS, REPLACE CABII | NET | | |
|----------------------------------|--------------------------|------------------------|--------------------|--------|------|--|
| ELECTRONICS | | | | | | |
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | |
| West Construction, Inc. [Ad] | First Offer - \$6,033.00 | 1 / each | \$6,033.00 | | Υ | |
| Product Code: | | Supplier Product Co | ode: | | | |
| Agency Notes: | | Supplier Notes: | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$6,086.90 | 1 / each | \$6,086.90 | | Υ | |
| Product Code: | | Supplier Product Code: | | | | |
| Agency Notes: | | Supplier Notes: | | | | |
| TGSV Enterprises, Inc. | First Offer - \$6,246.40 | 1 / each | \$6,246.40 | | Υ | |
| Product Code: | | Supplier Product Code: | | | | |
| Agency Notes: | | Supplier Notes: | | | | |
| Gulf Building LLC | First Offer - \$6,258.00 | 1 / each | \$6,258.00 | | Υ | |
| Product Code: | | Supplier Product Co | ode: | | | |
| Agency Notes: | | Supplier Notes: | | | | |

| PNC2119699C102-31 GROUP 2: SIGNAL PRIORITY PREEMPTION SYSTEM (F&I), GPS, DETECTOR | | | | | | | |
|---|--------------------------|--|-------------|--------|------|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | |
| West Construction, Inc. [Ad] | First Offer - \$5,770.00 | 3 / each | \$17,310.00 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$5,821.63 | 3 / each | \$17,464.89 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | |
| TGSV Enterprises, Inc. | First Offer - \$5,974.16 | 3 / each | \$17,922.48 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | |
| Gulf Building LLC | First Offer - \$5,986.00 | 3 / each | \$17,958.00 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | |

| PNC2119699C102-32 GROUP 2: PEDESTRIAN DETECTOR (F&I), ACCESSIBLE | | | | | | | | |
|--|----------------------------|------------------------|--------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| West Construction, Inc. [Ad] | First Offer - \$1,342.00 | 6 / each | \$8,052.00 | | Υ | | | |
| Product Code: | | Supplier Product C | Code: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$1,354.2033 | 6 / each | \$8,125.2198 | | Υ | | | |
| Product Code: | | Supplier Product Code: | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |
| TGSV Enterprises, Inc. | First Offer - \$1,389.64 | 6 / each | \$8,337.84 | | Υ | | | |
| Product Code: | | Supplier Product Code: | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |
| Gulf Building LLC | First Offer - \$1,393.00 | 6 / each | \$8,358.00 | | Υ | | | |
| Product Code: | | Supplier Product C | Code: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |

| PNC2119699C102-33 GROUP 2: TRAFFIC CONTROLLER ASSEMBLY (F&I), MODEL 2070, ONE PREEMPTION | | | | | | |
|--|------------|----------|-------------|--------|------|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | |

| Emerald Construction Corp. [Ad] | First Offer - \$31,560.55 | 1 / assembly | \$31,560.55 | Υ | | |
|---------------------------------|---------------------------|------------------------|-------------|---|--|--|
| Product Code: | | Supplier Product Code: | | | | |
| Agency Notes: | | Supplier Notes: | | | | |
| TGSV Enterprises, Inc. | First Offer - \$32,387.47 | 1 / assembly | \$32,387.47 | Υ | | |
| Product Code: | | Supplier Product C | ode: | | | |
| Agency Notes: | | Supplier Notes: | | | | |
| Gulf Building LLC | First Offer - \$32,451.00 | 1 / assembly | \$32,451.00 | Y | | |
| Product Code: | | Supplier Product Code: | | | | |
| Agency Notes: | | Supplier Notes: | | | | |
| West Construction, Inc. [Ad] | First Offer - \$36,288.00 | 1 / assembly | \$36,288.00 | Y | | |
| Product Code: | | Supplier Product C | ode: | _ | | |
| Agency Notes: | | Supplier Notes: | | | | |
| | | | | | | |

| PNC2119699C102-34 GROUP 2: ITS MANAGED FIELD ETHERNET SWITCH (F&I) | | | | | | | | | |
|--|--------------------------|--|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| West Construction, Inc. [Ad] | First Offer - \$8,133.00 | 1 / each | \$8,133.00 | | Υ | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$8,203.00 | 1 / each | \$8,203.00 | | Υ | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |
| TGSV Enterprises, Inc. | First Offer - \$8,418.30 | 1 / each | \$8,418.30 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Gulf Building LLC | First Offer - \$8,436.00 | 1 / each | \$8,436.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |

| PNC2119699C102-35 GROUP 2: SINGLE POST SIGN (F&I), GROUND MOUNT, UP TO 12 SF | | | | | | | | |
|--|-------------------------|--|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| West Construction, Inc. [Ad] | First Offer - \$590.00 | 2 / assembly | \$1,180.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |
| TGSV Enterprises, Inc. | First Offer - \$612.02 | 2 / assembly | \$1,224.04 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |
| Gulf Building LLC | First Offer - \$614.00 | 2 / assembly | \$1,228.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$767.555 | 2 / assembly | \$1,535.11 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2119699C102-36 GROUP 2: SINGLE POST SIGN, REMOVE | | | | | | | |
|---|------------------------|--|-------------|--------|------|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | |
| West Construction, Inc. [Ad] | First Offer - \$107.00 | 1 / assembly | \$107.00 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$109.94 | 1 / assembly | \$109.94 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | |
| TGSV Enterprises, Inc. | First Offer - \$110.70 | 1 / assembly | \$110.70 | | Υ | | |
| Product Code: | | Supplier Product Co | ode: | | | | |

| | | | | . ugo | 1-0111 |
|-------------------|------------------------|---------------------|----------|-------|--------|
| Agency Notes: | | Supplier Notes: | | _ | |
| Gulf Building LLC | First Offer - \$111.00 | 1 / assembly | \$111.00 | | Υ |
| Product Code: | | Supplier Product Co | ode: | | |
| Agency Notes: | | Supplier Notes: | | | |

| PNC2119699C102-37 GROUP 2: SIGN PANEL (F&I), OVERHEAD MOUNT, UP TO 12 SF | | | | | | | |
|--|---|---|-------------|--------|------|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | |
| West Construction, Inc. [Ad] | First Offer - \$508.00 | 1 / each | \$508.00 | | Υ | | |
| Product Code: Agency Notes: | Supplier Product Code: Supplier Notes: | | | | | | |
| TGSV Enterprises, Inc. | First Offer - \$525.49 | 1 / each | \$525.49 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | |
| Gulf Building LLC | First Offer - \$528.00 | 1 / each | \$528.00 | | Υ | | |
| Product Code: Agency Notes: | Supplier Product Code: Supplier Notes: | | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$1,043.75 | 1 / each | \$1,043.75 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | |

| PNC2119699C102-38 GROUP 2: INTERNALLY ILLUMINATED SIGN (F&I), OVERHEAD MOUNT, UP TO 12 SF | | | | | | | |
|---|---|----------|-------------|--------|------|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | |
| West Construction, Inc. [Ad] | First Offer - \$1,933.00 | 1 / each | \$1,933.00 | | Υ | | |
| Product Code: Agency Notes: | Supplier Product Code: Supplier Notes: | | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$1,971.27 | 1 / each | \$1,971.27 | | Υ | | |
| Product Code: Agency Notes: | Supplier Product Code: Supplier Notes: | | | | | | |
| TGSV Enterprises, Inc. | First Offer - \$2,023.50 | 1 / each | \$2,023.50 | | Υ | | |
| Product Code: Agency Notes: | Supplier Product Code: Supplier Notes: | | | | | | |
| Gulf Building LLC | First Offer - \$2,028.00 | 1 / each | \$2,028.00 | | Υ | | |
| Product Code: Agency Notes: | Supplier Product Code: Supplier Notes: | | | | | | |

| PNC2119699C102-39 GROUP 2: INTERNALLY ILLUMINATED SIGN (F&I), OVERHEAD MOUNT, 12 TO 18 SF | | | | | |
|---|--|---|-------------|--------|------|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs |
| West Construction, Inc. [Ad] | First Offer - \$2,361.00 | 2 / each | \$4,722.00 | | Υ |
| Product Code: Agency Notes: | Supplier Product Code: Supplier Notes: | | | | |
| Emerald Construction Corp. [Ad] First Offer - \$2,381.91 2 / each \$4,763.82 Y | | | | | Υ |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | |
| TGSV Enterprises, Inc. First Offer - \$2,444.43 | | 2 / each | \$4,888.86 | | Υ |
| Product Code: Agency Notes: | Supplier Product Code: Supplier Notes: | | | | |
| Gulf Building LLC | First Offer - \$2,450.00 | 2 / each | \$4,900.00 | | Υ |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | |

| PNC2119699C102-40 GROUP 2: AUDIO VISUAL PRE AND POST CONSTRUCTION RECORDING | | | | | | |
|---|--------------------------|--------------|------------|--|---|--|
| Supplier Unit Price Qty/Unit Total Price Attch. Docs | | | | | | |
| Emerald Construction Corp. [Ad] | First Offer - \$1,235.40 | 1 / lump sum | \$1,235.40 | | Υ | |

| actini Man Transit | County Co | minosionero | | Page 13 of 14 |
|--------------------------------|---|---------------------------------------|------------|---------------|
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | - |
| TGSV Enterprises, Inc. | First Offer - \$1,500.00 | 1 / lump sum | \$1,500.00 | Υ |
| Product Code: Agency Notes: | Supplier Product Code: Supplier Notes: | | | |
| West Construction, Inc. [Ad] | First Offer - \$2,500.00 | 1 / lump sum | \$2,500.00 | Υ |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | |
| Gulf Building LLC | First Offer - \$4,298.00 | 1 / lump sum | \$4,298.00 | Y |
| Product Code: Agency Notes: | • | Supplier Product C Supplier Notes: | ode: | · |

| PNC2119699C103-01 Payment, Perf, and Insurance: Performance and Payment Bond Premium, Insurance | | | | | | | |
|---|--|--------------------|--------------|--------|------|--|--|
| Premium | | | | | | | |
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | |
| TGSV Enterprises, Inc. | First Offer - \$175,220.00 | 1 / lump sum | \$175,220.00 | | Υ | | |
| Product Code: | | Supplier Product (| Code: | | | | |
| Agency Notes: | | Supplier Notes: | | | | | |
| Emerald Construction Corp. [Ad] | Emerald Construction Corp. [Ad] First Offer - \$197,976.295 1 / lump sum \$197,976.295 Y Y | | | | | | |
| Product Code: | Product Code: Supplier Product Code: | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | |
| Gulf Building LLC | First Offer - \$228,021.00 | 1 / lump sum | \$228,021.00 | | Υ | | |
| Product Code: | | Supplier Product (| Code: | | | | |
| Agency Notes: | Supplier Notes: | | | | | | |
| West Construction, Inc. [Ad] | 1 / lump sum | \$315,058.00 | | Υ | | | |
| Product Code: | Product Code: Supplier Product Code: | | | | | | |
| Agency Notes: Supplier Notes: | | | | | | | |

Supplier Totals

| Supplier Tota | 13 | | |
|------------------|---|--|----------------|
| f Emerald C | onstruction Corp. [Ad] | \$10,255,607.0252 (42/42 item | ns) |
| Bid Contact | Ramiro Gamez ramiro@emeraldconstructioncorp.com Ph 954-241-2583 | Address 1211 Stirling Road Suite 106 Dania Beach, FL 33004 | |
| Qualifications | MBE WBE | | |
| Agency Notes | s: | Supplier Notes: | Head Attch: |
| Bid Allowance | | | \$440,000.00 |
| f TGSV Ente | rprises, Inc. | \$10,637,713.10 (42/42 items |) |
| Bid Contact | Richard Gomez rgomez@tgsv.com Ph 305-823-5755 Fax 305-558-9020 | Address 1301 W 68 Street Hialeah, FL 33014 | |
| Supplier Code | VS0000000427 | | |
| Bid Bond | (Status: An error occurred during verification. Bo | nd Not Found) | |
| Agency Notes | s: | Supplier Notes: | Head Attch: |
| Bid Allowance | | | \$440,000.00 |

11/5/2019

| | • | | Page 14 of 14 |
|------------------|---|--|---------------------|
| f Gulf Build | ing LLC | \$10,780,143.00 (42/42 items |) |
| g | Giovanna Alessi-Suarez gioa@gulfbuilding.com Ph 954-492-9191 | Address Fort Lauderdale, FL 33301 | |
| Bid Bond | (Status: Authorized on Oct 28, 2019) | | |
| Agency Note | es: | Supplier Notes: | Head Attch: ∰ |
| Bid Allowance | | | \$440,000.00 |
| f West Con | struction, Inc. [Ad] | \$11,086,146.43 (42/42 items) | |
| r F | Martha A Morgan barrett@westconstructioninc.net Ph 561-588-2027 Fax 561-582-9419 | Address 820 N 4th Street Lantana, FL 33462 | |
| Bid Bond | (Status: Authorized on Nov 5, 2019) | | |
| Agency Note | es: | The state of the s | Head Attch: |
| Bid Allowance | | | \$440,000.00 |
| Florida Clea | ar Energy, LLC | \$299,639.88 | (1/42 items) |
| Bid Contact | Larry Thelmas rmedina@flclearenergy.com Ph 954-552-5644 Fax 954-306-6759 | Address 2000 S Ocean Dr, Ste 306 Fort Lauderdale, FL 33316 | |
| Supplier Code | VS0000010877 | | |
| Qualifications | CBE DBE MBE SB SBE | | |
| Agency Note | es: | Supplier Notes: | |
| MS.SHINEC | DN | \$0.15 | (1/42 items) |
| Bid Contact | majorie walker info@msshineon.com Ph 954-470-5089 | Address 1991 nw 74 ave sunrise, FL 33313 | |
| | CBE DBE MBE SB SBE WBE | | |
| Agency Note | ?S: | Supplier Notes: | |

^{**} All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.